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The third edition of the Citizens Income Newsletter (United Kingdom) for 2006 is now 
available on 
www.citizensincome.org/resources/newsletter%20issue%203%202006.shtml 
Note that the first edition for 2007 is also available.  
 
*BELGIAN BASIC INCOME PARTY LAUNCHES NEW WEBSITE 
Vivant, a small Belgian political party led by BIEN Life-member Roland Duchtelet, has 
launched a new website entitled "Enjoy Living". 
See the Dutch version athttp://www.vivant.org/site/nl/home/ 
and the English version at http://www.vivant.org/site/en/home/ 
 
*WORLD CITIZENS ACTION 
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